Heat pump bracket

Instruction & Manual

Invest Living

Scandinavian heat pumps

Invest Living

Gyllingsvag 9
572 36 Oskarshamn
0046 (0)491 40 30 00

www.investliving.se


http://www.investliving.se/

Installation:

Step 1

Combine Support 1 with Support 2 with M6 bolt &), M6 gaskets @ and @.

Step 2

Combine Support 1 with Support 3 with M6 bolt 8, M6 gaskets @ and @.

Step 3

Adjust two combined Support length, lock them with M8 coach bolt @, M8 nut ®, and M8 gaskets @
and ®).

Step 4

Add rubber foot @ with support 1, adjust the height and stabilize the bracket.

Number Spare parts

o)
<

S

Support 1

Support 2

Support 3

Rubber foot

M8 flat gasket

M8 nut

M6 flat gasket

M6 bolt

Wl o Nl O s N

M6 Spring gasket

-
o

M8 coach bolt

S B| OO |0 AN NIN

-h
-

M8 Spring gasket

Measurements: OBS! All measurements are in mm!

/53,0

| ——— |

2U6.8 l

530 8 Hight of the bracket is adjustable
: between 323mm and 340mm by
adjusting the individual rubber feet @.

Max: 600kg

min-mnox:608mn-953mm

— — A—— S —— ———

3/.8
156

44




